Existence of Nonoscillatory Solution of Second Order Linear Neutral Delay Equation

M. R. S. Kulenović and S. Hadžiomerspahić

Department of Mathematics, University of Sarajevo, 71000 Sarajevo, Bosnia and metadata, citation and similar papers at core.ac.uk

o man, naicinii e mannaineau

Submitted by Hal L. Smith

Received September 23, 1996

Consider the neutral delay differential equation with positive and negative coefficients.

$$\frac{d^2}{dt^2}[x(t) + px(t-\tau)] + Q_1(t)x(t-\sigma_1) - Q_2(t)x(t-\sigma_2) = 0,$$

where $p \in R$ and

$$\tau \in (0, \infty), \sigma_1, \sigma_2 \in [0, \infty)$$
 and $Q_1, Q_2 \in C([t_0, \infty), R^+).$

Some sufficient conditions for the existence of a nonoscillatory solution of the above equation expressed in terms of $\int_{-\infty}^{\infty} sQ_i(s)\,ds < \infty,\,i=1,2$, and certain technical conditions implying that $Q_1(s)$ dominates $Q_2(s)$ are obtained for values of $p\neq \pm 1$. © 1998 Academic Press

1. INTRODUCTION

Consider the neutral delay differential equation of second order with positive and negative coefficients,

$$\frac{d^2}{dt^2} [x(t) + px(t-\tau)] + Q_1(t)x(t-\sigma_1) - Q_2(t)x(t-\sigma_2) = 0, \quad (1)$$

where $p \in R$ and

$$\tau \in (0, \infty), \sigma_1, \sigma_2 \in [0, \infty) \quad \text{and} \quad Q_1, Q_2 \in C([t_0, \infty), R^+),$$
 (2)

$$\int_{-\infty}^{\infty} sQ_i(s) ds < \infty, \qquad i = 1, 2.$$
 (3)

436

Recently, there has been a lot of activity concerning the oscillation and asymptotic behavior of first order neutral differential equations (see [2, 7–11]), directed mainly at the so-called linearized oscillation theory (see [1] and [4] for a review of this theory and [3] and [4] for some applications). This theory of the corresponding first-order neutral delay equation

$$\frac{d}{dt}[x(t) + px(t - \tau)] + Q_1(t)x(t - \sigma_1) - Q_2(t)x(t - \sigma_2) = 0$$
 (E)

was restricted to the case $p \in (0,1)$, and very recently some of the results have been extended to the case p>1 (see [12] and [13]). The only global results with respect to p (that is, the results that hold for every $p \in R$) can be found in [5] and [12]. The second order neutral equation (1) received much less attention, which is due mainly to the technical difficulties arising in its analysis. See [1, 3, 4] for reviews of this theory. In particular, there is no global result, with respect to p, for (1).

Here we obtain the first global result (with respect to p) in the nonconstant coefficient case, which is a sufficient condition for the existence of a nonoscillatory solution for all values of $p \neq \pm 1$.

Let $m = \max\{\tau, \sigma_1, \sigma_2\}$. By a solution of Eq. (1) we mean a function $y \in C([t_1 - m, \infty), R)$, for some $t_1 \ge t_0$, such that $y(t) + py(t - \tau)$ is twice continuously differentiable on $[t_1, \infty)$ and such that Eq. (1) is satisfied for $t \ge t_1$.

Assume that (2) holds, $t_1 \ge t_0$, and let $\phi \in C([t_1 - m, t_1], R)$ be a given initial function. Then one can easily see by the method of steps that Eq. (1) has a unique solution $y \in C([t_1 - m, \infty), R)$ such that

$$y(t) = \phi(t)$$
 for $t_1 - m \le t \le t_1$.

As is customary, a solution of Eq. (1) is said to oscillate if it has arbitrarily large zeros. Otherwise the solution is called nonoscillatory.

The following result is the special case of our main result.

COROLLARY. Consider the equation

$$\frac{d^2}{dt^2}\big[x(t)+px(t-\tau)\big]+Q(t)x(t-\sigma)=\mathbf{0},$$

where $p \in R$, $p \neq \pm 1$,

$$\tau \in (0, \infty), \quad \sigma \in [0, \infty), \quad and \ Q \in C([t_0, \infty), R^+),$$

and

$$\int^{\infty} sQ(s)\,ds < \infty.$$

Then this equation has a nonoscillatory solution.

This result, which is important for its own sake, will be used in the future to prove the linearized oscillation result for second order neutral equations of the form

$$\frac{d^2}{dt^2} [x(t) + px(t-\tau)] + q_1 f(x(t-\sigma_1)) - q_2 f(x(t-\sigma_2)) = 0$$

for the values of parameter $p \neq \pm 1$.

The condition (3) seems to be reasonable, since in the particular case p=0, $Q_2(t)\equiv 0$, it becomes the well-known nonoscillatory result for delay equations (see [6]).

2. MAIN RESULT

Our main result is the following:

THEOREM. Consider Eq. (1), subject to conditions (2) and (3). If

$$aQ_1(s) - Q_2(s) \ge 0$$
 for every $t \ge T_1$ and $a > 0$, (4)

where $p \neq \pm 1$ and T_1 is large enough, then (1) has a nonoscillatory solution.

Proof. The proof of this theorem will be divided into four claims, depending on the four different ranges of the parameter p.

Claim 1. $p \in [0, 1)$. Choose a $t_1 > t_0$ sufficiently large such that

$$t_1 \ge \max\{T_1, t_0 + \sigma\}, \quad \sigma = \max\{\tau, \sigma_1, \sigma_2\},\tag{5}$$

$$\int_{t_1}^{\infty} s [Q_1(s) + Q_2(s)] ds < 1 - p, \tag{6}$$

$$0 \le \int_{t_1}^{\infty} s [M_2 Q_1(s) - M_1 Q_2(s)] ds \le p - 1 + M_2, \tag{7}$$

$$\int_{t_1}^{\infty} s [M_1 Q_1(s) - M_2 Q_2(s)] ds \ge 0$$
 (8)

hold, where M_1 and M_2 are positive constants such that

$$1 - M_2$$

holds.

Let X be the set of all continuous and bounded functions on $[t_0,\infty)$ with the sup norm. Set

$$A = \{ x \in X : M_1 \le x(t) \le M_2, t \ge t_0 \}.$$

Define a mapping $T: A \to X$ as follows

$$(Tx)(t) = \begin{cases} 1 - p - px(t - \tau) + t \int_{t}^{\infty} \left[Q_{1}(s)x(s - \sigma_{1}) - Q_{2}(s)x(s - \sigma_{2}) \right] ds \\ + \int_{t_{1}}^{t} s \left[Q_{1}(s)x(s - \sigma_{1}) - Q_{2}(s)x(s - \sigma_{2}) \right] ds, & t \ge t_{1} \\ (Tx)(t_{1}), & t_{0} \le t \le t_{1}. \end{cases}$$

Clearly, Tx is continuous. For every $x \in A$ and $t \ge t_1$, using (4) and (7) we get

$$(Tx)(t) = 1 - p - px(t - \tau) + t \int_{t}^{\infty} \left[Q_{1}(s)x(s - \sigma_{1}) - Q_{2}(s)x(s - \sigma_{2}) \right] ds$$

$$+ \int_{t_{1}}^{t} s \left[Q_{1}(s)x(s - \sigma_{1}) - Q_{2}(s)x(s - \sigma_{2}) \right] ds$$

$$\leq 1 - p + t \int_{t}^{\infty} \left[M_{2}Q_{1}(s) - M_{1}Q_{2}(s) \right] ds$$

$$+ \int_{t_{1}}^{t} s \left[M_{2}Q_{1}(s) - M_{1}Q_{2}(s) \right] ds$$

$$\leq 1 - p + \int_{t}^{\infty} s \left[M_{2}Q_{1}(s) - M_{1}Q_{2}(s) \right] ds$$

$$+ \int_{t_{1}}^{t} s \left[M_{2}Q_{1}(s) - M_{1}Q_{2}(s) \right] ds$$

$$= 1 - p + \int_{t_{1}}^{\infty} s \left[M_{2}Q_{1}(s) - M_{1}Q_{2}(s) \right] ds$$

$$< M_{2}.$$

Furthermore, in view of (4) and (8) we have

$$(Tx)(t) = 1 - p - px(t - \tau) + t \int_{t}^{\infty} [Q_{1}(s)x(s - \sigma_{1}) - Q_{2}(s)x(s - \sigma_{2})] ds$$

$$+ \int_{t_{1}}^{t} s[Q_{1}(s)x(s - \sigma_{1}) - Q_{2}(s)x(s - \sigma_{2})] ds$$

$$\geq 1 - p - pM_{2} + t \int_{t}^{\infty} [M_{1}Q_{1}(s) - M_{2}Q_{2}(s)] ds$$

$$+ \int_{t_{1}}^{t} s[M_{1}Q_{1}(s) - M_{2}Q_{2}(s)] ds$$

$$\geq 1 - p - pM_{2}$$

$$\geq M_{1}.$$

Thus we proved that $TA \subset A$. Since A is a bounded, closed, and convex subset of X we have to prove that T is a contraction mapping on A to apply the contraction principle.

Now, for $x_1, x_2 \in A$ and $t \ge t_1$ we have

$$\begin{aligned} &|(Tx_1)(t) - (Tx_2)(t)| \\ &\leq p |x_1(t - \tau) - x_2(t - \tau)| \\ &+ t \int_t^{\infty} Q_1(s) |x_1(s - \sigma_1) - x_2(s - \sigma_1)| \, ds \\ &+ t \int_t^{\infty} Q_2(s) |x_1(s - \sigma_2) - x_2(s - \sigma_2)| \, ds \\ &+ \int_{t_1}^t s Q_1(s) |x_1(s - \sigma_1) - x_2(s - \sigma_1)| \, ds \\ &+ \int_{t_1}^t s Q_2(s) |x_1(s - \sigma_2) - x_2(s - \sigma_2)| \, ds \\ &+ \int_{t_1}^t s Q_2(s) |x_1(s - \sigma_2) - x_2(s - \sigma_2)| \, ds \\ &\leq p ||x_1 - x_2|| + ||x_1 - x_2|| \\ &\times \left\{ \int_t^{\infty} s [Q_1(s) + Q_2(s)] \, ds + \int_{t_1}^t s [Q_1(s) + Q_2(s)] \, ds \right\} \\ &= ||x_1 - x_2|| \left\{ p + \int_{t_1}^{\infty} s [Q_1(s) + Q_2(s)] \, ds \right\} \\ &= q_1 ||x_1 - x_2|| \end{aligned}$$

where we used sup norm. This immediately implies that

$$||Tx_1 - Tx_2|| \le q_1 ||x_1 - x_2||,$$

where in view of (6), $q_1 < 1$, which proves that T is a contraction mapping. Consequently T has the unique fixed point x, which is obviously a positive solution of Eq. (1). This completes the proof of Claim 1.

Claim 2. $p \in (1, +\infty)$. Choose a $t_1 > T_1 > t_0$ sufficiently large such that

$$t_1 + \tau > t_0 + \max\{\sigma_1, \sigma_2\},$$
 (9)

$$\int_{t_0}^{\infty} s [Q_1(s) + Q_2(s)] ds$$

$$0 \le \int_{t_1}^{\infty} s [N_2 Q_1(s) - N_1 Q_2(s)] ds \le 1 - p + p N_2, \tag{11}$$

and

$$\int_{t_{-}}^{\infty} s [N_1 Q_1(s) - N_2 Q_2(s)] ds \ge 0, \tag{12}$$

where N_1 and N_2 are positive constants such that

$$(1 - N_1)p \ge 1 + N_2$$
 and $p(1 - N_2) < 1$.

Let X be the set as in Claim 1. Set

$$A = \{ x \in X : N_1 \le x(t) \le N_2, t \ge t_0 \}.$$

Define a mapping $T: A \to X$ as follows:

$$(Tx)(t) = \begin{cases} 1 - \frac{1}{p} - \frac{1}{p}x(t+\tau) \\ + \frac{t+\tau}{p} \int_{t+\tau}^{\infty} \left[Q_1(s)x(s-\sigma_1) - Q_2(s)x(s-\sigma_2) \right] ds \\ + \frac{1}{p} \int_{t_1}^{t+\tau} s \left[Q_1(s)x(s-\sigma_1) - Q_2(s)x(s-\sigma_2) \right] ds, \qquad t \ge t_1 \\ (Tx)(t_1), \qquad t_0 \le t \le t_1 \end{cases}$$

Clearly, Tx is continuous. For every $x \in A$ and $t \ge t_1$, using (4) and (11) we get

$$(Tx)(t) = 1 - \frac{1}{p} - \frac{1}{p}x(t+\tau)$$

$$+ \frac{t+\tau}{p} \int_{t+\tau}^{\infty} [Q_1(s)x(s-\sigma_1) - Q_2(s)x(s-\sigma_2)] ds$$

$$+ \frac{1}{p} \int_{t_1}^{t+\tau} s[Q_1(s)x(s-\sigma_1) - Q_2(s)x(s-\sigma_2)] ds$$

$$\leq 1 - \frac{1}{p} + \frac{t+\tau}{p} \int_{t+\tau}^{\infty} [N_2Q_1(s) - N_1Q_2(s)] ds$$

$$+ \frac{1}{p} \int_{t_1}^{t+\tau} s[N_2Q_1(s) - N_1Q_2(s)] ds$$

$$\leq 1 - \frac{1}{p} + \frac{1}{p} \left\{ \int_{t+\tau}^{\infty} s[N_2Q_1(s) - N_1Q_2(s)] ds$$

$$+ \int_{t_1}^{t+\tau} s[N_2Q_1(s) - N_1Q_2(s)] ds$$

$$= 1 - \frac{1}{p} + \frac{1}{p} \int_{t_1}^{\infty} s[N_2Q_1(s) - N_1Q_2(s)] ds$$

$$\leq N_2.$$

Furthermore, in view of (12) we have

$$(Tx)(t) = 1 - \frac{1}{p} - \frac{1}{p}x(t+\tau)$$

$$+ \frac{t+\tau}{p} \int_{t+\tau}^{\infty} [Q_1(s)x(s-\sigma_1) - Q_2(s)x(s-\sigma_2)] ds$$

$$+ \frac{1}{p} \int_{t_1}^{t+\tau} s[Q_1(s)x(s-\sigma_1) - Q_2(s)x(s-\sigma_2)] ds$$

$$\geq 1 - \frac{1}{p} - \frac{N_2}{p} + \frac{t+\tau}{p} \int_{t+\tau}^{\infty} [N_1Q_1(s) - N_2Q_2(s)] ds$$

$$+ \frac{1}{p} \int_{t_1}^{t+\tau} s[N_1Q_1(s) - N_2Q_2(s)] ds$$

$$\geq 1 - \frac{1}{p} - \frac{N_2}{p}$$

$$\geq N_1.$$

Thus we proved that $TA \subset A$. Since A is a bounded, closed, and convex subset of X we have to prove that T is a contraction mapping on A to apply the contraction principle.

Now for $x_1, x_2 \in A$ and $t \ge t_1$ we have

$$\begin{aligned} & \left| (Tx_{1})(t) - (Tx_{2})(t) \right| \\ & \leq \frac{1}{p} \left| x_{1}(t+\tau) - x_{2}(t+\tau) \right| \\ & + \frac{t+\tau}{p} \left[\int_{t+\tau}^{\infty} Q_{1}(s) \left| x_{1}(s-\sigma_{1}) - x_{2}(s-\sigma_{1}) \right| ds \right. \\ & \left. + \int_{t+\tau}^{\infty} Q_{2}(s) \left| x_{1}(s-\sigma_{2}) - x_{2}(s-\sigma_{2}) \right| ds \right] \\ & + \frac{1}{p} \left[\int_{t_{1}}^{t+\tau} sQ_{1}(s) \left| x_{1}(s-\sigma_{1}) - x_{2}(s-\sigma_{1}) \right| ds \right. \\ & \left. + \int_{t_{1}}^{t+\tau} sQ_{2}(s) \left| x_{1}(s-\sigma_{2}) - x_{2}(s-\sigma_{2}) \right| ds \right] \\ & \leq \frac{1}{p} \left\| x_{1} - x_{2} \right\| + \frac{1}{p} \left\| x_{1} - x_{2} \right\| \\ & \times \left[\int_{t+\tau}^{\infty} s\left[Q_{1}(s) + Q_{2}(s) \right] ds + \int_{t_{1}}^{t+\tau} s\left[Q_{1}(s) + Q_{2}(s) \right] ds \right] \\ & = \frac{1}{p} \left\| x_{1} - x_{2} \right\| \left[1 + \int_{t_{1}}^{\infty} s\left[Q_{1}(s) + Q_{2}(s) \right] ds \right] \\ & = q_{2} \left\| x_{1} - x_{2} \right\|, \end{aligned}$$

where we used sup norm. This immediately implies that

$$||Tx_1 - Tx_2|| \le q_2 ||x_1 - x_2||,$$

where in view of (10), $q_2 < 1$, which proves that T is a contraction mapping. Consequently T has the unique fixed point x, which is obviously a positive solution of Eq. (1). This completes the proof of Claim 2.

Claim 3. $p \in (-1, 0)$. Choose a $t_1 > T_1 > t_0$ sufficiently large so that (5) and the inequalities

$$\int_{t_1}^{\infty} s [Q_1(s) + Q_2(s)] ds (13)$$

$$0 \le \int_{t_1}^{\infty} s [M_4 Q_1(s) - M_3 Q_2(s)] ds \le (p+1)(M_4 - 1)$$
 (14)

hold, where the constants M_3 and M_4 satisfy

$$0 < M_3 \le 1 < M_4$$
.

Let *X* be the set as in Claim 1. Set

$$A = \{ x \in X : M_3 \le x(t) \le M_4, t \ge t_0 \}.$$

Define a mapping $T: A \to X$ as follows:

$$(Tx)(t) = \begin{cases} 1 + p - px(t - \tau) \\ + t \int_{t}^{\infty} \left[Q_{1}(s)x(s - \sigma_{1}) - Q_{2}(s)x(s - \sigma_{2}) \right] ds \\ + \int_{t_{1}}^{t} s \left[Q_{1}(s)x(s - \sigma_{1}) - Q_{2}(s)x(s - \sigma_{2}) \right] ds, \qquad t \ge t_{1} \\ (Tx)(t_{1}), \qquad t_{0} \le t \le t_{1}. \end{cases}$$

Clearly, Tx is continuous. For every $x \in A$ and $t \ge t_1$, using (14) we get $(Tx)(t) = 1 + p - px(t - \tau)$

$$+ t \int_{t}^{\infty} \left[Q_{1}(s)x(s - \sigma_{1}) - Q_{2}(s)x(s - \sigma_{2}) \right] ds$$

$$+ \int_{t_{1}}^{t} s \left[Q_{1}(s)x(s - \sigma_{1}) - Q_{2}(s)x(s - \sigma_{2}) \right] ds \leq 1 + p - pM_{4}$$

$$+ t \int_{t}^{\infty} \left[M_{4}Q_{1}(s) - M_{3}Q_{2}(s) \right] ds + \int_{t_{1}}^{t} s \left[M_{4}Q_{1}(s) - M_{3}Q_{2}(s) \right] ds$$

$$\leq 1 + p - pM_{4} + \int_{t_{1}}^{\infty} s \left[M_{4}Q_{1}(s) - M_{3}Q_{2}(s) \right] ds$$

$$\leq 1 + p - pM_{4} + (p + 1)(M_{4} - 1)$$

$$= M_{4}.$$

Furthermore, in view of (4) we have

$$(Tx)(t) = 1 + p - px(t - \tau)$$

$$+ t \int_{t}^{\infty} [Q_{1}(s)x(s - \sigma_{1}) - Q_{2}(s)x(s - \sigma_{2})] ds$$

$$+ \int_{t_{1}}^{t} [Q_{1}(s)x(s - \sigma_{1}) - Q_{2}(s)x(s - \sigma_{2})] ds$$

$$\geq 1 + p - pM_{3} + t \int_{t}^{\infty} [M_{3}Q_{1}(s) - M_{4}Q_{2}(s)] ds$$

$$+ \int_{t_{1}}^{t} s[M_{4}Q_{1}(s) - M_{4}Q_{2}(s)] ds$$

$$\geq 1 + p - pM_{3}$$

$$\geq M_{3}.$$

Thus, we proved that $TA \subset A$. Since A is a bounded, closed, and convex subset of X, we have to prove that T is contraction mapping on A to apply the contraction principle.

Now, for $x_1, x_2 \in A$ and $t \ge t_1$ we have

$$\begin{aligned} & |(Tx_1)(t) - (Tx_2)(t)| \\ & \leq -p |x_1(t-\tau) - x_2(t-\tau)| \\ & + t \int_t^\infty Q_1(s) |x_1(s-\sigma_1) - x_2(s-\sigma_1)| \, ds \\ & + t \int_t^\infty Q_2(s) |x_1(s-\sigma_2) - x_2(s-\sigma_2)| \, ds \\ & + \int_{t_1}^t sQ_1(s) |x_1(s-\sigma_1) - x_2(s-\sigma_1)| \, ds \\ & + \int_{t_1}^t sQ_2(s) |x_1(s-\sigma_2) - x_2(s-\sigma_2)| \, ds \\ & \leq -p \|x_1 - x_2\| + \|x_1 - x_2\| \left(\int_t^\infty s [Q_1(s) + Q_2(s)] \, ds \right) \\ & = \|x_1 + x_2\| \left\{ -p + \int_{t_1}^\infty s [Q_1(s) + Q_2(s)] \, ds \right\} \\ & = q_4 \|x_1 - x_1\|, \end{aligned}$$

where we used sup norm. This immediately implies that

$$||Tx_1 - Tx_2|| \le q_3 ||x_1 - x_2||,$$

where in view of (13), $q_3 < 1$. This proves that T is a contraction mapping. Consequently, T has the unique fixed point x, which is obviously a positive solution of Eq. (1). This completes the proof of Claim 3.

Claim 4. $p \in (-\infty, -1)$. Choose a $t_1 > T_1 > t_0$ sufficiently large such that (9) and the inequalities

$$\int_{t_1}^{\infty} s [Q_1(s) + Q_2(s)] ds < -p - 1$$
 (15)

$$0 \le \int_{t_1}^{\infty} s [N_4 Q_1(s) - N_3 Q_2(s)] ds \le (p+1)(N_3 - 1)$$
 (16)

hold, where the positive constants N_3 and N_4 satisfy

$$0 < N_3 < 1 \le N_4$$
.

Let X be the set as in Claim 1. Set

$$A = \{ x \in X : N_3 \le x(t) \le N_4, t \ge t_0 \}.$$

Define a mapping $T: A \to X$ as follows

$$(Tx)(t) = \begin{cases} 1 + \frac{1}{p} - \frac{1}{p}x(t+\tau) \\ + \frac{t+\tau}{p} \int_{t+\tau}^{\infty} \left[Q_1(s)x(s-\sigma_1) - Q_2(s)x(s-\sigma_2) \right] ds \\ + \frac{1}{p} \int_{t_1}^{t+\tau} s \left[Q_1(s)x(s-\sigma_1) - Q_2(s)x(s-\sigma_2) \right] ds, & t \ge t_1 \\ (Tx)(t_1), & t_0 \le t \le t_1. \end{cases}$$

Clearly, Tx is continuous. For every $x \in A$ and $t \ge t_1$, using (4), we get

$$(Tx)(t) = 1 + \frac{1}{p} - \frac{1}{p}x(t+\tau)$$

$$+ \frac{t+\tau}{p} \int_{t+\tau}^{\infty} \left[Q_1(s)x(s-\sigma_1) - Q_2(s)x(s-\sigma_2) \right] ds$$

$$+ \frac{1}{p} \int_{t_1}^{t+\tau} s \left[Q_1(s)x(s-\sigma_1) - Q_2(s)x(s-\sigma_2) \right] ds$$

$$\leq 1 + \frac{1}{p} - \frac{N_4}{p} + \frac{t+\tau}{p} \int_{t+\tau}^{\infty} \left[N_3 Q_1(s) - N_4 Q_2(s) \right] ds$$

$$+ \frac{1}{p} \int_{t_1}^{t+\tau} s \left[N_3 Q_1(s) - N_4 Q_2(s) \right] ds$$

$$\leq 1 + \frac{1}{p} - \frac{N_4}{p}$$

$$\leq N_4.$$

Furthermore, in view of (16) we have

$$(Tx)(t) = 1 + \frac{1}{p} - \frac{1}{p}x(t+\tau)$$

$$+ \frac{t+\tau}{p} \int_{t+\tau}^{\infty} [Q_1(s)x(s-\sigma_1) - Q_2(s)x(s-\sigma_2)] ds$$

$$+ \frac{1}{p} \int_{t_1}^{t+\tau} s[Q_1(s)x(s-\sigma_1) - Q_2(s)x(s-\sigma_2)] ds$$

$$\geq 1 + \frac{1}{p} - \frac{N_3}{p} + \frac{t+\tau}{p} \int_{t+\tau}^{\infty} [N_4Q_1(s) - N_3Q_2(s)] ds$$

$$+ \frac{1}{p} \int_{t_1}^{t+\tau} s[N_4Q_1(s) - N_3Q_2(s)] ds$$

$$\geq 1 + \frac{1}{p} - \frac{N_3}{p} + \frac{1}{p} \int_{t_1}^{\infty} s[N_4Q_1(s) - N_3Q_2(s)] ds$$

$$\geq 1 + \frac{1}{p} - \frac{N_3}{p} + \frac{1}{p} (p+1)(N_3-1)$$

$$= N_3.$$

Thus, we proved that $TA \subset A$. Since A is a bounded, closed, and convex subset of X, we have to prove that T is a contraction mapping on A to apply the contraction principle.

Now, for $x_1, x_2 \in A$ and $t \ge t_1$ we have

$$\begin{split} \big| (Tx_1)(t) - (Tx_2)(t) \big| \\ &\leq -\frac{1}{p} \big| x_1(t+\tau) - x_2(t+\tau) \big| \\ &- \frac{t+\tau}{p} \bigg[\int_{t+\tau}^{\infty} Q_1(s) \big| x_1(s-\sigma_1) - x_2(s-\sigma_1) \big| \, ds \\ &+ \int_{t+\tau}^{\infty} Q_2(s) \big| x_1(s-\sigma_2) - x_2(s-\sigma_2) \big| \, ds \bigg] \\ &- \frac{1}{p} \bigg[\int_{t_1}^{t+\tau} sQ_1(s) \big| x_1(s-\sigma_1) - x_2(s-\sigma_1) \big| \, ds \\ &+ \int_{t_1}^{t+\tau} sQ_2(s) \big| x_1(s-\sigma_2) - x_2(s-\sigma_2) \big| \, ds \bigg] \\ &\leq -\frac{1}{p} \big\| x_1 - x_2 \big\| - \frac{1}{p} \big\| x_1 - x_2 \big\| \\ &\times \bigg\{ \int_{t+\tau}^{\infty} s \big[Q_1(s) + Q_2(s) \big] \, ds + \int_{t}^{t+\tau} s \big[Q_1(s) + Q_2(s) \big] \, ds \bigg\} \end{split}$$

$$= -\frac{1}{p} \|x_1 - x_2\| \left\{ 1 + \int_{t_1}^{\infty} s [Q_1(s) + Q_2(s)] ds \right\}$$

= $q_4 \|x_1 - x_2\|$,

where we used sup norm. This immediately implies that

$$||Tx_1 - Tx_2|| \le q_4 ||x_1 - x_2||.$$

In view of (15), $q_4 < 1$, which proves that T is a contraction mapping. Consequently, T has the unique fixed point x, which is obviously a positive solution of Eq. (1). This completes the proof of Claim 4.

The proof of the theorem is complete.

Remark. Condition (4), which implies that $Q_1(t)$ dominates $Q_2(t)$, may look too restrictive. This condition is actually affected by the choice of the constants M_i and N_i , i=1,2,3,4. Choosing those constants in an appropriate way, we can specify that this condition hold for a single value of a; in this case this condition becomes very easy to check and use. For instance, if $M_{2k}=\alpha M_{2k-1}$, $N_{2k}=\alpha N_{2k-1}$, k=1,2, then $a=\alpha$ in (4), where $\alpha>1$ is a given number. Choosing α to be as close to 1 as we please, we get very precise asymptotic behavior for the nonoscillatory solution we constructed, since in all cases we have

$$M_{2k-1} \le x(t) \le \alpha M_{2k-1}, \qquad k = 1, 2$$

or

$$N_{2k-1} \le x(t) \le \alpha N_{2k-1}, \qquad k = 1, 2.$$

We can also specify our choice of constants by choosing $M_1 = M_3 = N_1 = N_3$ and $M_2 = M_4 = N_2 = N_4$, which can be achieved by taking M_1 and M_2 to satisfy $0 < M_1 < M_2$ and ${M_2}^2 > M_1$. In this case in all four cases we will have the same asymptotic behavior of nonoscillatory solution as $M_1 \le x(t) \le M_2$ with the same value of $a = M_2/M_1$.

Combining the last two choices of constants, we get $M_1 \le x(t) \le \alpha M_1$ and $a = \alpha$.

Finally, in the special case where $Q_2(t) \equiv 0$, condition (4) is redundant and the theorem holds under condition (3) only. This result is stated as the Corollary.

REFERENCES

 D. D. Bainov and D. P. Mishev, "Oscillation Theory for Neutral Differential Equations with Delay," Hilger, Bristol, 1991.

- 2. Q. Chuanxi, M. R. S. Kulenović, and G. Ladas, Oscillations of neutral equations with variable coefficients, *Rad. Mat.* 5(2) (1989), 321–332.
- 3. K. Gopalsamy, "Stability and Oscillations in Delay Differential Equations of Population Dynamics," Kluwer Academic, Dordrecht/Norwell, MA, 1992.
- I. Gyori and G. Ladas, "Oscillation Theory for Delay Differential Equations with Applications," Oxford Univ. Press, London, 1991.
- 5. S. Hadžiomerspahić and M. R. S. Kulenović, Existence of nonoscillatory solution for linear neutral delay equation, to appear.
- 6. M. R. S. Kulenović, Asymptotic properties of second order differential inequalities with a general deviating argument, *Fasc. Math.* **15** (1984), 83-96.
- M. R. S. Kulenović and G. Ladas, Linearized oscillation theory for second order differential equations, Canad. Math. Soc. Conf. Proc. 8 (1987), 261–267.
- M. R. S. Kulenović and G. Ladas, Linearized oscillations in population dynamics, Bull. Math. Biol. 49 (1987), 615–627.
- 9. M. R. S. Kulenović, G. Ladas, and A. Meimaridou, On oscillation of nonlinear delay differential equations, *Quart. Appl. Math.* **45** (1987), 155–164.
- M. R. S. Kulenović, G. Ladas, and Y. G. Sficas, Comparison results for oscillations of delay equations, Ann. Mat. Pura Appl. 156 (1990), 1-14.
- 11. G. Ladas, Linearized oscillations for neutral equation, in "Proceedings of Equadiff Conference, Xanthi, 1986," *Lecture Notes in Pure and Appl. Math.* (1989), 379–387.
- J. Yu and Z. Wang, Nonoscillation of a neutral delay differential equation, Rad. Mat. 8 (1992–96), 127–133.
- 13. J. S. Yu, Z. C. Wang, and C. Qian, Oscillation and nonoscillation of neutral differential equations, *Bull. Austral. Math. Soc.* **45** (1992), 195–200.